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von Mises

m
m
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m

2=9.81m/s’

p=1.025t/m’

> _ [ 2 2 2
N/mm —\/csX +0,”—0,0,+31,,

N/mm?

N/mm?

Xy

N/mm?

N/mm?
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2.1

2.2

2.2.1

222

223

2.3

23.1

232

W(X)
150m W(x)
b(x)
Ns(x) Ms(x)
N (0= [W0) - bo]dx kN
0

X X
M) =[Ns(9-dy =] . [WO)—b(]dx  KN-m

L<500 m
L/D<17

P-M
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S(@,H,,T,,0)= %124H1/3T{4a)—5 exp(— 3964 Jcos2 0 -% <0 S%
3 0 ,
o — rad
2/nc0s20 ——
Hi ,m
3
T S
® — rad/s
¢ : Rayleigh ”
’ 0 2/3
4 10°® 10
2.33
035B( )
032B( )
0.10
234
1 M, F,
My M,
My (+#)=M-Cpg-My, KN-m
My (-)=-M-Cgx-My, KN -m
My— kNem
M——
Cup  Csg
110Gy, +0.7)
= 7 95C, +55(C, +0.7)
Cro = 190C,
95C,, +55(C,, +0.7)
Co 0.6
Fw Fv

FV(+): FICSFV\[ kN

FV(_) :_FZCSF\N kN
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Fy—— kN

F, F

Cs 2.3.4

234 Cs
Cq Cs Cs Cs

m m m m
90 1.5212 200 1.2727 320 1.3348 420 1.3471
100 1.4573 220 1.2771 340 1.3474 440 1.3536
120 1.3705 240 1.2870 350 1.3313 460 1.3604
140 1.3190 260 1.3003 360 1.3327 480 1.3674
160 1.2900 280 1.3152 380 1.3365 500 1.3743
180 1.2760 300 1.3276 400 1.3414
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3.1
ay 2
P =10p,(1+0.35-1)k h, KN/m
Cy
Pe— tm’
a, = >110.75- 2Ly L 0.067vAL] 90ms L 300m
L 100
_ %[32.25 +0.2V4/L] 300ms L 500 m
k, =sin” o tan* (45° —0.55) + cos” a
o— 90° 0°
o— 35° 30° 25°
2
Ys
Zy = h x (1 - b_2
b=B/2 B
b o
=—tan o 0 =35
2
A=% b? tan &
3
o =2 +hy +hey = 2
hd m
z m
hdb m
Z m

ho
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3.1
3.2
2.3
3.2.1
(1)
P, =10d +1.5C,,
P, =3C,
P, =3P,
P, =2.4P,
P, =C, —0.67(D-d)
300—L. s
c, =10.75-(—)"
w ( 100 )
=10.75
:10.75—("_350)1~5
150
(2)
R, =10d,
P, =0.0
d

322

(1)

kN/m’
kN/m’
kN/m’
kN/m’

90m <L <300m

300m < L <350m
350m <L <£500m

kN/m?
kN/m?

m
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P, =10d, kN/m’

P, =0.0 kN/m’
kN/m?
f
Rw = Zmax( P, Py)
p, =P, +135—"— b ~1.2(T,-Z,)
11 B+7 1 W
yl+k Z
13(]y] c:B|y| Llo7+25w
2(B 75) 14 T,
V=82 Z,=T,
kN/m’
f
Pss zzmax( P, Py)
P P2 |)7|= B2 Z,=00
kN/m’
f
Pg =1y Zmax(pla Py)
D, P ¥|=B/4  Z,=0.0
h f
Pok —side = R _EZ
h—— m
Pdk =19.6-vH
H=014-A- ~d,
A— 3.2.2(2) 3.2.2(2)
A
V_— kn 13 kn FP 2.70
L— m 0.05L 2.16
Ceg— 0.10L 1.70
di — m 0.15L 143
0.20L 1.22
0.25L 1.00
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T — m

C =10.75-[(300-L)/1007**
=10.75
=10.75-[(L-350)/150]*?

Ag
075
B 0.34
2Kk,
¢=(1.25-0.025 \Ribf )k
k= 12
= 1.0
= 08
k;
GM—— m
k= 039B
= 025B
GM = 0.12B
y——
ky
V— knots
f—
= 4 10
= 8 10°®
- CB+083
JCs
= GCg 02L
_ CW%E
ks
k= 10 AP
= 05 02L 06L

= 1.0 FP

90m< L <300m
300m< L <350m
350m<L <500m

B/4<y<B/.2

0.6 L
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T——
3.3
3.3.1
3.3.2~33.5
3.3.2 M,  CCS
3.3.3 Mg
334 Mg
335 M,
My
(1) 4.1 L~Ly~0.5L,,
Qm = Ppx b—Wmcagro/ Lm
Qe = Poxb —Wecagro/ Le
P, 32 kN/m’
Wmcargo
Wecargo
Le Wecargo
Lm m
L() m
b
3 2 1
MI’ = EXQmLO +§XQEL0
() 4.1 Li#L,#0.5L,,
Mr

334
M,
M=M_+M,-M,

Qnm

=B/2 B
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B
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4.1

X===-

y_-_-

Zm——

4.2

4.2.1 12
+1 +1/2
( 4.1)
422
( 4.2)
423

424

4.2.5

4.2.6 3

4.2.7 173
4238
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4.2.11
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6.1
6.2
6.3
6.4
6.5
6.6

6.7
6.8

Cons.

Link:
BM——
6
1
2
3
4
5 ( =3.0 t/m’
6 ( =3.0 t/m’)
( )
Table 6.1 Loading Conditions for bulk carriers
(t/m3)
1 d=da Ms+Mw 1.025
2 d=da Ms+Mw 1.025
3 d=d; Ms+Mw
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! d=ds Ms+Mw

° d=ds Ms+Mw 3.0

|
f

TSN

° d=ds Ms+Mw 30

! d=da Ms+Mw

SEOE0

? d=da Ms+Mw

3 d=da Ms+Mw

1
oo = e
5y o) ar- o
g | i "
‘ % [ ok
] 3 k1 )
%] AR
: i
5 =
] i
e
1 L |
‘ : 2 [t e
H Lx, Each Ly
L ] e, e

Lz

da
ds

33
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7.1

7.2
7.3
7.4
7.5

7.1
7.1
0. O O w T

N/mm? N/mm? N/mm? N/mm?
220/k 210/k — —
220/k 210/k 145/k —
220/k 210/k 145/k 115/k
235/k 210/k — 115/k
175/k — — 95/k
175/k — — 95/k
195/k — — 95/k

(N/mm?)
176/k

206/k
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8.1

(1)
2

€)
(4)

©)

8.1.2
8.1.3
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8.1.5

8.1.1
CCS 2 2.2.7 e
A 8.1.2
8.1.1
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1.5m 1.0
2.0
1.0

1.0
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8.2

8.2.1
M

@

t

1.0

1.0

1.1

1.2

1.2

Nx=0:X t,

Ny=06,% t,

Nxy=t,,% t,

8.2.1
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8.2.1

-f???1???????????????????1???????????????????????3

k) [
8.2.2
1. 8.2.1 822
2. 821 8.2.2
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(factor) A
8.14 8.1.2
8.2.2
€Y 8.1.1
o, Ot/(t-t)
O &
o —
t—
t— 8.1.1
&)
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y ky _ 1+(§)2 2.1
% 17 ] g+l
y
| X
Oy2= @Oyl oyl
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X
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k — | s 2
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8.2.2 C G
&
C
T 1.1 1.3 1.2
1.0 1.2 1.1
O yere
o = i(ly N/ mm?
e T 1-v?) s
ky—— 8.2.1
Cz 8.2.2
y_
T cre
7’E ot )
Tor &= ktCI —2(_) N /mm
120-v?) s
ke— 8.2.1
(o)
O yor e O yor e 75
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O yor (ox (o}
(yer) 0-5(1_4 S ) O yor e >7S
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T
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4Tcr7e 2
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T s —
NE)
©)
8.2.3 A
8.1.2
0-)( O-y Z— Xy X Y
8.2.3 A
| |
1<— <42 V2 <2<8
S S
1 O xer 1 O xer
(I1+ky) oy Ja+k?) Ox
X 1 cSXCI‘
J(+k3) Ox
1 Oyer
Y ——
J(+k3) Oy
1 GXCI‘
JA+kZ +k3) Ox
kl — Gy/cycr k — TXy/TCI' k — TXy/TCI'
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